Let  T: IR^3                IR^3        T(x,y,z) = (y+z, x+z, y+x)

B1 = standard basis of IR^3  and B2 the basis

B2 = {u1= (1,1,1),  u2 = (1, -1,0),  u3 = (1,1,-2)}

- Find A= [ T ]                    ,         B = [ T ]

                        B1                                      B2

- Prove that A is similar to B

Hint:   Find P = [ I ]                       ,              Q = [ I ]                         where I(v) = v

                                B2, B1                                         B1,B2

- Show that Q = p^-1  and A= PBp^-1
- Find the eigenvalues of T 

